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1 Introduction

During last RAN4 meetings discussion took place if the transmitter shall be ON for RF receiver tests. During RAN4#59AH, the way forward was agreed in [1]. It was agreed transmitter shall be ON for reference sensitivity requirement for Rel’10 onwards. Other receiver requirements will be further discussed at the RAN4#60. This contribution presents Nokia Siemens Networks’ view on that aspect and is the response to document [2].
2 Discussion
In contribution [2], the following aspects were mentioned:
“Therefore, it is very hard to confirm that the measured Rx performance with the Tx OFF is equivalent to that with the Tx ON without testing actually”. 

“Then, we think the complexity for the measuring system set-up would be unchanged if all the Rx tests are done with the Tx ON, since the same measurement system set-up with the circulator would be used for all Rx tests to minimize the number of measuring systems, the number of procedures for testing and the total testing time.”

Regarding the first statement, we agree the receiver performance shall be checked with transmitter ON for all intermodulation cases where the own transmitter is involved. For the second one we would like to mention out-of-band blocking requirement’s measurement set-up is different and more complicated comparing to the other receiver requirements. The reason for that is the centre frequency of the interfering signal is specified up to 12.75GHz and circulators used for that set-up are not so wideband.
Taking into account the measurement set-up complexity and operator’s concerns that the receiver performance cannot be fully checked with the transmitter OFF, we propose the following way forward:

· Transmitter shall be ON for all RF receiver tests except out-of-band blocking requirement
· For out-of-band blocking, transmitter shall be ON for CW interfering signal frequencies causing a third order intermodulation product with the own transmitter signal into the receiver channel under test , otherwise transmitter shall be OFF

It should be noted CW interfering signal frequencies causing a third order intermodulation product with the own transmitter signal into the receiver channel under test can be defined in a simple way. Assuming a single-carrier transmitter signal, the cases producing the third order intermodulation on the receiver channel are:
1. Blocker in the middle of the transmitter and receiver frequencies

2. Transmitter in the middle of the blocker and receiver frequency

Example for Band 1 tested with M channel (transmitter @ 2140MHz, receiver @ 1950MHz) is shown below:

1. Blocker in the middle of the transmitter and receiver frequencies -> blocker @ 2045MHz

2. Transmitter in the middle of the blocker and receiver frequency -> blocker @2330MHz
3 Conclusion
This document presents Nokia Siemens Networks’ view if transmitter shall be ON for all RF receiver tests. It is proposed to agree to the following way forward:
· Transmitter shall be ON for all RF receiver tests except out-of-band blocking requirement
· For out-of-band blocking, transmitter shall be ON for CW interfering signal frequencies causing a third order intermodulation product with the own transmitter signal into the receiver channel under test , otherwise transmitter shall be OFF
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